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Q| No |fizi TOGO[PLAY PLAYERS Y| R No |fzi TOGO| PLAY PLAYERS Y—F| 1R
1| 1 [+ 25 | 10 [PASS| R — &8 | 15| O 1 |E 15| 2 | PASS | #EE — #K | 8 | O
2 [ 49 1 | RUN| Xi# 0| x 2 (B 30| 3 | RUN | F:E 710
3 [ 27 | 8 | RUN| R -2 | x 3 |4 46| 8 [PASS | HE — #HE |46 | O
4 |& 39 | 3 |PASS| fFiEE — - % 4 |E 36| 9 [ PASS | BE — — | %
2 5 (& 15| 5 | RUN|[ X% 9|10 5 [ 28| 14 [PASS | B2 — #K [ 28| O
6 |5 30 | 4 |PASS| & — /MR [ 11| O 6 [ 45| 11 [ PASS | #EE® — - %
7 | 13 | 2 | RUN| (uMA 2|10 7 |E 24| 10 [ PASS | BE — -] %
8 [ 49 | 3 |PASS| R — - | x 8 [ 15| 9 [ RUN | #E 1 x
3[ 9 (¢ 37| 3 |RUN| WA 10| O 9 [ 39 4 [ RUN | BB 710
10 | 45 | 12 [PASS| & — - | x 10 |B2 44 | 12 | PASS | B&2 — mgE | 21 [ O
11| 10 | 7 |PASS| f## — ki | 10| © 11 [ 26| 1 | RUN | 7EE 2|10
12 [ 17 | 13 [PASS| fR#E — &HW | -1 [ x 12 |4 40| 1 | PASS | TEE — = | %
4l 13 [ 15 | 10 [PASS| @ - — | x 13 |E 30| 5 | RUN | &2 4| x
14 [ 50 | 10 [PASS| R — /MR | 13| O 14 |g 24| 10| PASS | F82 — H@ | 14| O
15| 19 | 3 |PASS| 8% — B2 | 19| ©
16 |BE 43 | 2 | RUN | & -4 | x
m | 16 [mom| 8 [mmw] soo m [ 14 [ mom | 8 [mmE] 5w
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1]11:54 7:56 | 3:58 KO th - 25 7 1 th - 49 PUNT 24
5:18 3:31 1:47 KO th - 25 4 0 th - 25 PUNT 0
2:48 0:20 | 2:28 PUNT th - 15 6 1 th - 39 PUNT 24
2| 9:39 2:37 | 7:02 PUNT th-10 | 14 6 | BE-o0 D 90
1:33 1:01 0:32 PUNT - 32 6 1 B - 49 PUNT 19
0:03 0:00 | 0:03 PUNT - 45 1 1 B - 40 END 15
3 (11 8:34 2:37 KO $ - 30 7 1 f - 45 PUNT 15
8:24 6:36 | 1:48 INT B - 28 5 2 | B-0 ™ 28
2:07 0:05 2:02 KO f - 20 4 0 - 16 PUNT -4
4 111:20 9:36 1:44 PUNT f-15 4 0 f-15 PUNT 0
8:14 5:52 2:22 FUMR f - 50 8 3 B-0 D 50
3:50 1:37 2:13 PUNT f - 31 5 1 B -4 PUNT 22
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1 7:56 5:18 2:38 PUNT B-7 9 4 f -0 D 93
3:31 2:48 | 0:43 PUNT | B -35 4 0 | B -36 PUNT 1
0:20 0:00 — PUNT | B -32 | — | — | BE-17 - -
2 |12:00 9:39 | 2:41 - B-17 7 1 th - 45 PUNT 23
2:31 1:33 | 0:58 KO B-24| 4 0 | BE-24 PUNT 0
1:01 0:03 | 0:58 PUNT | BE-14 | 4 o | BE-16 PUNT 2
3 |11:52 11:18 | 0:34 KO B -33 2 1 -0 D 67
8:34 8:24 | 0:10 PUNT | B - 18 1 o | BE-18 INT 0
6:28 2:12 | 4:16 KO B-33 | 12 5 $-0 D 67
0:05 0:00 -— PUNT ho-49 | — | — | H-40 - -
4 112:00 11:20 0:45 - - 40 4 0 $ - 40 PUNT 9
9:36 8:14 | 1:22 PUNT | & - 34 6 2 | BE-50 FUML 16
5:46 3:50 | 1:56 KO B -25 4 0 | B -34 PUNT 9
1:37 0:00 1:37 PUNT B-2 9 3 B - 29 FG 47
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